RERET
7= i 8

LUGB &t tt, J iz TR, . MR MAETESHOK. TAER . i5K4Ak
B, R B GR UL SRR R A R RN RIS M B iR, 2 H
TR AR SR R IR A 2 R R s AU R A R R, AT TR R A

TENE, EEA Y RIREH .

— % &

LUGB #RAimarint & 1H2MRAE R (Karman) JRg R BRI E AR Z0RBURIE AR
TR FROUR AR A R B R E AR R T RN L P AR BT R

FERE SRR, R rT S ded /. DCRSERE R IR E .«

AR EIHAT (IB/T9249-1999 ki EALEES ), KEbriE (1JG1029-2007 WAATi &=

THSEE AR RPAT A SE -

= R

WOCR AR, RIIRGE, S fa] L T e AN gE g

WA T Ry, 3 W VAR (Y U A B2 0 = 1.0%; MR IR G T2 0 =+ 1.5%:
W EBUN AR 1 14~1/2), )8 T et B 0GR

W 222 75 SR ARSI T 28 A R, KT 3 ELANAS [ BEURY 22 3¢
BRI P A A PR 3 A% 8k, BAT — s PUARIR SN 1 fE

=, BRSH
3.1 EXSH
BT | A
I Witk £1.0%R CEIEFD: £2% GHAID
ARESER | .
SAREZEIR: +1.5%R CEEFD; +25% (EAZD
NFEE: -40°C~+70°C CHR T1); -40°C~+250C (iiE T2); -40°C~+350°C (& T3)
PRt WERREE: -20°C~+60°C; MXHERE: 5%~90%; K<JE7/1: 86~106KPa
R ASMIE: +24VDCx15%, SUH<t5%, G T 4-20mA fid. kit . RS485 %%
B.WHLUR: 175 3.6VDC #Hl, HELT 2.0 B R ERER.
IR | ASPHIE: <aW: B.NHIE: SPITHFESIW, FESMER =40 L.
i IhEE | OG5 @4 ~ 20mA HE 5 @RS485 HIH@HART #rill
3.2 METEE K ERETEIR
. (EPCEM AN o .

AR T | R | iR | e R | WSS | AT
(mm> (m3/h (m3/h (m3/h (m3/h) | e (Mpa) (Mpa)
DN15 1.2-6.2 5-25 R 5 1.6/2.5
DN20 1.5-10 8-50 e 1.6/2.5
DN25 1.6-16 10-70 e 1.6/2.5
DN32 1.9-19 15-150 e 1.6/2.5
DN40 2.5-26 22-220 e 1.6/2.5
DN50 3.5-38 36-320 25/ 1.6/2.5 40
DN65 6.2-65 50-480 D 53 1.6/2.5
DN8O 10-100 70-640 D 53 1.6/2.5
DN100 15-150 130-1100 D 53 1.6/2.5
DN125 25-250 200-1700 D 53 1.6

R AR R AT IR A 7]

Hii%: 022-86393578

fEH.: 022-27984101

Hodik: REEWPEFXAH A2 5ER—5 2521132

MEFE: zx@tjbily.com




DN150 36-380 280-2240 RIS 1.6
DN200 62-650 580-4960 70-700 600-6000 VEEIREE AR 1.6
DN250 | 140-1400 | 970-8000 110-1100 1060-10600 | ¥%==/93MHHN 1.6
DN300 | 200-2000 | 1380-11000 180-1800 1500-15000 | ¥A2%/FRMAEN 1.6
DN350 210-2100 2000-20000 A 1.6
DN400 270-2700 2700-27000 DN 1.6
DN450 350-3500 3300-33000 DN 1.6
DN500 450-4500 4200-42000 DN 1.6
DN600 600-6000 6100-61000 A 1.6
DN800 800-8000 | 11000-110000 A 1.6
DN1000 1200-12000 | 17000-170000 TN 1.6
DN1200 1800-18000 | 24000-240000 N 1.6
DN1500 2600-26000 | 38000-380000 N 1.6
M. fRER
£5 BiEA
LUGB -ol/o|/lo|/lo|/lo|/lo]| /o
1 IR CEERD
—— 2 s CEERD ®5% [3.2 RENE KM
i W52 (A ] RSP SR EE TR
4 BRI 2% G
1 Ak
AT 2 WAk
ARRELE ok H2% [32 METEHEERER] EFSH~-AKERL
YEHIE R ’ R
F PSRN E S
N FRIEARAY: +12V B 24V fitel, it =k (55
A ARILARAL. 24V fEH, Fat T4 4~20mA
) B WL, BB R AE S
L S| — N .
C YL FE AL R, 3% BRI 2k ) 4~ 20mACRT IR HD
D1 R AME . EAMRIZRIR
D2 — AR I AME 8 A AR S — Rk
S N *T?ﬁﬁé, ANk ‘
E FAMRAY, ExdIICT5 B ExdIIBT6
. N | EM
PRI 22 Hx) | BE (BiTso

H. MRS
5.1 5MERE (AMERSTE 1-5)

R AR R AT IR A 7]

Hii%: 022-86393578

Wbtk RETHHEXEH N2 5HEf—5 254217132
fEH.: 022-27984101

MEFE: zx@tjbily.com




2. DN15-DN300 3Bt

mw o
#ir T

L2 FT s

24T

L1

L1

1

| 1.2-0. 5D
wumw

T T i

3. MBBARRERET 4. HFEAXRERETT

R AR R AR AR Hhhk: REWEFXAHAE 2 SEE—525% 273 2
Hii%: 022-86393578  fLEL: 022-27984101  HE4H: zx@tjbily.com



Sk

ALY I ST L T T T

5. WARRELEREBREE

52 REWTRERT—RR
5.2. 1 2 FEERERET

ARRIEE N N Yy s REREE p " s
PRI | AR | E224Me | EZEE | BRALE | AL | RSl | BRI | ORI
(mm) L (mm) H (mm) D (mm) C (mm) K (mm) (mm) - - -
15 180 415 95 14 65 14 4 M12X60 DI8X1.5
20 180 420 105 16 75 14 4 M12X60 D25X2.5
25 180 425 115 16 85 14 4 M12X60 D32X3.5
32 180 435 140 18 100 18 4 M16X70 D39X3.5
40 180 435 150 18 110 18 4 M16X70 D 48X 4
50 200 440 165 20 125 18 4 M16X70 D59X4. 5
65 200 460 185 20 145 18 4 M16X70 DT74X4.5
80 200 490 200 20 160 18 8 M16X70 D/IX 4.5
100 200 510 220 22 180 18 8 M16X70 D109X4.5
125 220 535 250 22 210 18 8 M16X70 D134X4.5
150 220 570 285 24 240 22 8 M16X90 D 159X4.5
200 220 625 340 24 295 22 12 M16X90 D219X9
250 250 685 405 26 355 26 12 M24 X110 D273X11
300 300 710 460 28 410 26 12 M24 X110 D 325X 12
i

OVAEZH3E T 22 B A R 58200 1. 6Mpa R R TR R 1T

QUL AR R T AR

s A

ENE!

GB/T9119-2000 F[HIAR A AR B iE =
5. 2.2 RFFEBRERET

JER AR, R & AT, ERRE HbriE N

IR LR &350 S T A T R A%

(mm) L Cmm) Lo (mm) H Cmm) D Cmm) —
15 66 116 400 66 D18X1.5
20 66 116 400 66 D25X2.5
25 66 116 400 66 D32X3.5
32 66 116 400 66 D39X3.5

R AR R AT IR A 7]

Hii%: 022-86393578

fEH.: 022-27984101

bl RIBETHEXAH A% 2 50 —525#% 2113 2
MEFE: zx@tjbily.com




40 80 116 404 7 D49X4.5
50 80 116 412 89 D59X4.5
65 93 116 428 102 D74X4.5
80 100 116 446 113 D8IX4. 5
100 125 118 472 135 ®109X4.5
125 145 124 492 158 ®134X4.5
150 165 135 515 181 ®159X4.5
200 196 150 570 248 ®219X9

250 120 166 620 297 ®273X11
300 135 185 670 350 ®325X12

B

OV ZH 838 F T 22 S U R A0 1. 6MPa AU K At & 1t

@ZRACTE LO MY INBC X 22 BGE 2 JE KT . ZRGEZ N T ANEZ:, W) Ol 2RaE 22 ibriE Al
bR, HEFEREH]

@ULE RSB IR IN 22, SEBr RST A | Bl0E B A

@R, RGO, RADERGL BRGNS BRI IEMSNERS, DL R, B
ISR LA B0E B A i s

Gt E T 2 REE R AR E, AT AR A 7 BER A L R H A A T T B AT WA, SR oAt [ S A
(SEbr. EFR. HARSE) IR RPARARAE T 1L E B TE R .

RN R R R RAR AR bk RETAEX K2 508 —525% 21132
Hii%: 022-86393578  fLEL: 022-27984101  HE4H: zx@tjbily.com




